/'\ hs Wel }(C‘

Math 180
Worksheet 3
Section 2.4-2.6, 3.1

1.) The graph below of the function h has vertical asymptotes x = 0,x = 4,
and x = 8. Analyze the following limits.
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2.) Determine whether the following statements are true or false. If true,
explain why. If false, give a counterexample.

a. Theline x = 1 is a vertical asymptote of the function
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b. If g has a vertical asymptote at x = 1 and 2lcim g(x) = oo, then

lim g(x) = co.
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3.) Determine the following limits:

a. lim (3+33) b. lim (—3x6 +2)
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and oblique asymptotes (if there are any). Then sketch the graph

(include intercepts and other points to help you with the graph). Check
your answer with your calculator. '
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4.) Consider the rational function f(x) = . Find vertical, horizontal,
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5.) Determine the points at which the function f has discontinuities. At each
point, state the first of the three conditions for continuity that it has

failed.
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6.) Consider the function f(x) = v2x — 1.

a. Find f'(x) by using the limit definition.
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b. Using the derivative you found it part a, what is the slope of
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